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Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min)

2
The solution of x* d_y =01s

dx’

Answer ( Please select your correct option )

y=c te,x
('\

y=xt chg

y=0x +6‘2)}

None of them

YNade by: Y/aqar Siddhe




Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)

The nature of roots of ausaliary equation deduced from Cauchy Euler equation
2
4x* d “r+8xdy +y=0
dx dx

Answer ( Please select your correct option ) VUNTSWETSTCUm

Real and unequal
~
Real and repeated
~
correct
Complex
&
None of them
C &
YNade by: Y/aqar Siddhe




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)

A function f 15 said to be convergent at a point a if it can be represented by the power senies in (x-a) which has

Answer ( Please select your correct option ) VUNTSWETSTCUm

Posttive radius of convergence
p

Rads of convergence equals zero.

None of them

Negative rads of convergence

) YNade by: Y/aqar Siddhe




Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min)

If Et)=0, R =0 (E(t) 1s thesource voltage & K is the resistance) then electnic wibration of the circuit 1s said to be

Answer ( Please select your correct option ) VUNTSWETSTCUm

Free damped oscillation
~

Free un-damped oscillation

Both damped and un-damped oscillation

None of them

) YNade by: Y/aqar Siddhe




Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min)

The quantity Z = X2 + R is called

Answer ( Please select your correct option )

Reactance of circutt
~

Impedance of circuit

Quasi of circuit

None of them

YNade by: Y/aqar Siddhe




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min)

The time interval between two successive maxima of x(¢) = de ™ sin[J@® — A% + $)is called

Answer ( Please select your correct option ) VUNTSWETSTCUm

None of them
~

Both the period

Quasi-period

Phase penod

) YNade by: Y/aqar Siddhe




Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min)

The Quasi-frequency of the solution x(t) of free damped motion 15 given by the number

Answer ( Please select your correct option ) VUNTSWETSTCUm

27T
27T
NRCRE correct
- @' -2
None of them
) YNade by: Yy aqar Siddh




Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min)

For the equation of free damped motion

d
—+t2A—+a@ the roots are #z

A+ -0 & my=-A-f12-a& T A*- @ < Othen systemis said to be

Answer ( Please select your correct option )

VUANSwers.com

p

Ower damped

Cntically damped

Under damped

None of them

YNade by: Y/aqar Siddhe




Question No : 9 of 52

Marks: 1 (Budgeted Time 1 Min)

The general solution of the equation x

dgy
2
—+

dx

xﬁ+(x2—i)=o i
dx 25

Answer ( Please select your correct option )

p

y=oJ,(x) +eyd (%)
3 3

y=cf(x) +ef (%)
3 iy

y=of,(x) +tcf 1 (x)
3 3

y=aoJ, (x)tcy S | (x)
25 T35

YNade by: Y/aqar Siddhe




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min)

T @®~d®=
3

3

Answer ( Please select your correct option ) VUNTSWETSTCUm

2J’l(x)

<. correct

2}’2(;;)
3

2'},4 (x)
C 3

None of them

) YNade by: Y/aqar Siddhe




Question No : 11 of 52

Marks: 1 (Budgeted Time 1 Min)

s X Ea
EA:[SS?]&B p g r b| then the order of mafirx AX B 1s

Answer ( Please select your correct option )

p

2x4

2%3

3x3

None of them

YNade by: Y/aqar Siddhe




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)

The order of a matrisz which contains 1 rows and m columns 1s

Answer ( Please select your correct option ) VUNTSWETSTCUm

1Xm
p

2Xm

mx1

None of them

) YNade by: Y/aqar Siddhe




Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min)

3 4
Eigen value of the matirx A=[ i ?] 13

Answer ( Please select your correct option )

A=33
~

0
I

D

e
[

3,4

None of them

YNade by: Y/aqar Siddhe




Question No : 14 of 52

Marks: 1 (Budgeted Time 1 Min)

. : pcoss AR kD IR cf F oz
The gwven system without the use of matnices — = + sin f 13
di | Y 1 1|y 8

Answer ( Please select your correct option )

p

ﬁ=3J'r—7y+43in2£; d—y=x+y+800325

dt dt

ﬁ=3x—7"y+4sina:; d—y=x+y+80083

dt dt

dx : dy :

—=3x-Ty+4sin¢, —=x+y+8sin¢

ds d i 7 correct
None of them

YNade by: Y/aqar Siddhe




Question No : 15 of 52

Marks: 1 (Budgeted Time 1 Min)

_ _ _ dix 3 =qNrx 494 ..
The gwven system without the use of matnices — = +| _|e” s
di | Y 1 1|y 8

Answer ( Please select your correct option )

p

ﬁ=3J'r—7y+43in2£; d—y=x+y+800325

dt dt

ﬁ=3x—7y+4e"; d—y=x+y+8€"

de correct
dx dy "

L =3x-Ty+dd, Z=x+y+8”

dt d i 7

None of them

YNade by: Y/aqar Siddhe




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)

: : : : . . d d
The coefficient matrix of the following homogeneous system of differential equation X _3x+2 v, & —x+2 y is

dt dt

Answer ( Please select your correct option ) VUNTSWETSTCUm

|[: -
|k 4
i [f 22] correct

None of them

) YNade by: Y/aqar Siddhe




Question No : 17 of 52

Marks: 1 (Budgeted Time 1 Min)

1

The matriz A=|-2

2

-2 | haselgen values A =-1,-1.5where A =-1l1sa

Answer ( Please select your correct option )

p

single root of A

triple root of &

double root of &

None of them

YNade by: Y/aqar Siddhe




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)

By applying the Operator method or systematic elimmation on a system of inear homogeneous or linear non-homogeneous differential equations we always get a

Answer ({ Please select your correct option ) Vum

smngle inear differential equation

€ correct

Double linear differential equation

Partial inear differential equation

None of them

) YNade by: Y/aqar Siddhe




Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)

I L denote the inear differential operators with constant coefficients, then 4,2, — L,Z; represents the

Answer ({ Please select your correct option ) Vum

L i
=L L
| =
L i
L oL
e L I, correct
None of them
’ OYNade by: Y/aqgar Siddhe




Question No : 20 of 52

Marks: 1 (Budgeted Time 1 Min)

|2 6] .
The matriz 18
1: 53

Answer ( Please select your correct option )

sigular matnx
~

Non singular matrix

Diagonal matrixz

Scalar Matris

YNade by: Y/aqar Siddhe




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)

The Differential Equation {(x* =4)y" =102 + y = 0 has singularity at

Answer ({ Please select your correct option ) Vum

x=%]
~

x=12

x=14

) YNade by: Y/aqar Siddhe




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)

Operator method 1s the method of the solution of a system of linear homogeneous or linear non-homogeneous differential equations which 1s based on the process of systematic elimination of the

Answer ({ Please select your correct option ) Vum

Dependent vanables

< correct

Independent vanable

Choice vaniable

None of them

) YNade by: Y/aqar Siddhe




Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min)

The non-zero solution of the system exists only when

Answer ({ Please select your correct option ) Vum

det(A- A1) =1
=

det(A- Al =0

det(A- A7) = -1

det(A—- AN = 0

) YNade by: Y/aqar Siddhe




Question No : 24 of 52

Marks: 1 (Budgeted Time 1 Min)

The solution of the linear first order differential equation j—y -2y =01s

Answer ( Please select your correct option )

-~

X+

Fre

_~x
)"24—”!

2]

Both 1) and 2)

MNone of them

YNade by: Y/aqar Siddhe




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min)

Ordinary points of (x° - 64)(x% -36)y" +xp'— y =0 are

Answer ({ Please select your correct option ) Vum

0.1
~

8,-8

6,-6

MNone of others.

c correct YNade by: Yy/aqar Siddhu




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min)

Ir-regular singular point of the equation(x* =4y + (x-2)y" +y =0 is

Answer ({ Please select your correct option ) Vum

X=2
~

x=:2 2

None of them

) YNade by: Y/aqar Siddhe




Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min)

1 0
The matriz A = [O 1] hasiv s

Answer ({ Please select your correct option )

Real and unequal value
~

Repeated & real eigen value

Complex eigen value

None of them

YNade by: Y/aqar Siddhe




Question No : 28 of 52

Marks: 1 (Budgeted Time 1 Min)

1 0
If A= [0 2] , then eigen values are

Answer ({ Please select your correct option )

-~

152

0.1

0,2

None of them

YNade by: Y/aqar Siddhe




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min)

Let 4 be an eigen value of a non zero square matrx & Then the equation det{d - A7) = 0 15 called

Answer ({ Please select your correct option ) Vum

Trwial equation
~

Charactenistics equation

Non-triwal equation

None of them

) YNade by: Y/aqar Siddhe




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)

1 0
Eigen walues of the following homogeneous system of Differential equation ﬁ =X, d_y = 2x + 2y with coefficient matnx [2 2]

dt dt

Answer ({ Please select your correct option ) VUNTSWETSTCUT“

A2
~

e
I

11

None of them

) YNade by: Y/aqar Siddhe




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the following may not be considered as integration technique

Answer ({ Please select your correct option ) Vum

By Parts
~
By substitutions
~
By Partial Fractions
S correct
None of these
- &
YNade by: YWaqgar Siddhu




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the following equations satisfy the differential equation j—y =X
x

Answer ({ Please select your correct option ) Vum

2y=x2 +c
~

y=sdg

) YNade by: Y/aqar Siddhe




Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min)

The differential equation (3z°y+2) dx+ (x*+ 3 dy = 0is ------- ]

Answer ({ Please select your correct option ) Vum

Exact

& correct

Non-exact

separable

Homogenous

) YNade by: Y/aqar Siddhe




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)

In order to change the Bernoulli Equation

d x
Y+ p(x)y=g(x)y
ax

into linear differential equation, we choose ----.

Answer ({ Please select your correct option ) Vum

v =yx—1
I

) YNade by: Y/aqar Siddhe




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min)

A differential equation of the form j—y = f(x,y) 15 sad to be homogeneous of f{fx, )= ----.
x

Answer ({ Please select your correct option ) Vum

F(x.5)
=
correct

Jx)

JO)

) YNade by: Y/aqar Siddhe




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)

The differential equation --------==-=cccuue- 1s separable.

Answer ({ Please select your correct option ) Vum

dy
xix+y)—=4
' ( y)dx

dy= x*

“lax xrw correct

ay_ Y
O dx 1+ 2y

3

dy xy+3

drger YNade by: YYaqar Siddhe




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)

The differential equation --------=---cceuuev 1s not separable.

Answer ({ Please select your correct option ) Vum

dy _ 2xp+3
O dx 3+4x° m
d_y= x:+ 1

O dx x + xp°

dy= 1

O dx Py +dy

dy
-~ —=1+y+x+2xy

i YNade by: Yyaqar Siddhy




Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)

N —-M
Ifthe equation M (x,y)dx + N(x, y)dy =0 isnot exact and = #is a function of ) only, then the integrating factor 1s gven by---------- :

Answer ({ Please select your correct option ) Vum

LF ol

& correct

R g2

1
Pl T

e

) YNade by: Y/aqar Siddhe




Question No : 39 of 52

Marks: 1 (Budgeted Time 1 Min)

For the solution of the equation_—l =x+c with y(0) =73, thevalueof cis———.

Answer ( Please select your correct option )

-~

0

-142

YNade by: Y/aqar Siddhe




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

A 2
If o2 (Cl cos3x + ¢4 sin 3x) 15 the solution of i—“;— -4 ;ﬁ + 13y =0, then which of the following 1s the most accurate option for j “; -4 j}’ + 13y = e?% sin3x 7
x x x x

Answer ({ Please select your correct option ) VUNTSWETSTCUT“

5 Its general form of the particular solution will be Ae 2% & Bsin x +Ccos x.

2x(

Its general form of the particular solution will be 2™ [ Asin x+ B cos x) :

Qx(

Its general form of the particular solution willbe ¢ ™" (A x sin x+ B x cos x) i

Its general form of the particular solution will be 2 (Ax sin 3x+ B x cos3x).

) YNade by: Y/aqar Siddhe




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

2
The nature of the roots of the following D.E x* d—‘f = 5xd—y +8y =0 18

adx dx

None of them

p

real and distinct

repeated roots

complex or imagmary

a corre (YN)ade by: Yy/aqar Siddhe




Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

An infintte sertes of (x-a) in the form of ¢y +¢)(x—a) +e,(x - a) +... wherethe coefficients €0,C1,Cq,...and aare constanis and xisa variable 1s called

Real series

p

Analytic senes

Power senes

” correct

o ONade by: YWaqar Siddbe




Question No : 3 of 52

Marks: 1 (Budgeted Time 1 Min) EI

A

In the infinite series of (x-a) which can be written as ch (x—a)* =c, +e(x—a)+ec,(x—a)* +... the number ais called the

Hel)

Answer { Please select your correct option ) VuAnswers.com
Radius of power senes
~
Centre of power senes
: rrect
Base of power senes
®
None of them
(@, - &
| YNade by: Yyaqar Siddhu




Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) EI

The given series ZL(—I)”is an

Nl \/;

A

Answer { Please select your correct option ) VuAnswers.com
Alternating series
~
correct
Divergent sentes
o
Exponential series
®
None of them
(@, » s
| YNade by: Yaqar Siddh




Question No : 5 of 52

Marks: 1 (Budgeted Time 1 Min) BI

Solution of the D Equation 4y" +y =0 is

A

Answer ( Please select your correct option )

p

yi(x) =c cos % + 0,00 b
correct
y(x) =c,cos x
2
yix) =cNin :
2
None of them

YNade by: Y/aqar Siddhe



Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

A function f 15 said to be convergent at a point a if it can be represented by the power sentes in (x-a) which has

Negative radius of convergence

p

Posttive radius of convergence

Radius of convergence equals zero.

None of them

N ored  yyyade by: Yyaqar Siddhe




Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

2
For the equation of free damped motion ﬂ + 2,71ﬁ +@*x=0 the roots are s = -4 + NAA-a® & wm =—A- \/,?12 -@ If A*- @* = 0then system is said to be

dt’ dt

Over damped
~
Cntically damped
o
Under damped
®
correct
None of them
(@, (]
YNade by: Yaqar Siddhe




Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

The time interval between two successive maxima of x(£) = de ™ sin[f@® — A% + @] is called

Quasi-period
~
correct
Phase peniod
o
Both the period
®
None of them
(@, (]
YNade by: Yy/aqar Siddhe




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

The Quasti-frequency of the solution x(t) of free damped motion 15 given by the number

- > — 2
27T
27

o\ correct

o @ - A

None of them
(@, 3
YNade by: Yy/aqar Siddhe




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) EI

2 A
The given differential equation % + 5? +4x =0 1s
4 4

Over damped
~
correct
Cntically damped
o
Under damped
®
None of them
(@, (]
YNade by: Yaqar Siddhe




Question No : 11 of 52

Marks: 1 (Budgeted Time 1 Min) EI

Which of the rule in matnices under multiplication does not hold true?

A

Answer ( Please select your correct option )

p

Commutative law

Associative law

Identity law

None of them

YNade by: Y/aqar Siddhe




Question No : 12 of 52

Marks: 1 (Budgeted Time 1 Min) EI

e

xyza

&8 = p g r & | then the order of masirx AX B 1s

A

Answer ( Please select your correct option )

p

2% 4
correct
2% 3
3%3
None of them

YNade by: Y/aqar Siddhe



Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) BI

A

The order of a matriz which contains 1 rows and m columns 1s

o correct
‘N OYNade by: Yyfaqar Siddhu




Question No : 14 of 52

Marks: 1 (Budgeted Time 1 Min) EI

3 4
Eigen value of the matix A=[ i 7] 18

A

Answer { Please select your correct option ) VuAnswers.com
A=33
y
A=55
5
A=34
P
None of them
- correct s
| YNade by: Yaqar Siddhe




Question No : 15 of 52

Marks: 1 (Budgeted Time 1 Min) EI

. , . dix 3 =TYx 494 ..
The given system without the use of matrices — = +| &7 18
di | ¥y 1 1)y 8

A

Answer ( Please select your correct option )

p

ﬁ=3x—7"y+~45in 2t d_y= x+y+8cos2i

dt dt

dx s dy ke

—=3x-T7y+4de 2', —_=x+ "‘86‘2

ds g g correct
dx dy _

—=3x-Ty+de’; Z=x+y+8~

dt g dt .

None of them

YNade by: Y/aqar Siddhe



Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

32 =18

The matrix A= [ ] has an eigen value of multiplicity

Answer ( Please select your correct option ) Em_emm
1
-
2
o
3
5 correct
4
(@, 3
| YNade by: Yy/aqar Siddhe




Question No : 17 of 52

Marks: 1 (Budgeted Time 1 Min) EI

1

The matriz A=|-2

2

-2 | has eigen values A =-1,-1,5where A =-1l1s a

A

Answer ( Please select your correct option )

p

single root of &

triple root of &

double root of &

None of them

YNade by: Y/aqar Siddhe




Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Min) EI

The differential equation 2 & + xgy =2x+3,»(0)=51is

adx

A

Answer ( Please select your correct option )

p

Linear

Nonlinear

Linear with fixed constants

Undeterminable to be linear or nonlinear

YNade by: Y/aqar Siddhe



Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

If & 15 a square matrix and its determinant 1s zero, then

Answer { Please select your correct option ) VuAnswers.com
A 15 singular matrix.
~
A 15 non singular matrix.
o
A 15 scalar matrix.
®
correct
A 15 diagonal matrix.
(@, (3
| YNade by: Yaqar Siddhe




Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) BI

A

The Differential Equation {(z* + )y + 227"+ 6y =0 has singularity at

o[ correct
‘B YNade by: Y/aqgar Siddhu




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

The Differential Equation {(z* —4)y" - 102/ + y = 0 has singularity at

o correct
‘B YNade by: Y/aqgar Siddhu




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) EI

-~
»

-1 dx_ly

n-1

Any linear differential equation of the form a, x™ +a, %

d .
: +L + alxd—y +a,y = g(x) where ay, @), @,...,a, are constants. 1s called
x

Homogeneous equation

p

Polar equation

Equi-dimensioanl equation

MNone of them

a correc (YY)ade by: Y4/ aqar Siddhe




Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

To reduce any Cauchy —Euler differential equation mto a differential equation with constants coefficients we often use substitution

Answer ( Please select your correct option ) Em_emm
y=x
-
None of them
o
- x=¢g'
correct
y=¢e
(@, (]
| YNade by: Yy/aqar Siddhe




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

A rectangular arrangement of numbers or functions enclosed in the square brackets 1s called

Answer { Please select your correct option ) VuAnswers.com

Equation
o

derterminant
i

M atriz
("

correct

None of them
@ 3
| YNade by: Yaqar Siddhe




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

3

= _ 4 : .
For eigen values A=3,5 of amatux A= [ ?] there exists ... eigen vectors.

o[ correct
) YNade by: Yy/aqar Siddhe




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

If wroskian of the solution vectors X &4, 15 zero, then vectors are ...

Linearly Independent

° correct

Linearly dependent

None of them

Parallel

YNade by: Y/aqar Siddhe




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

1 0
If A= [0 2‘ , then eigen values are

Answer ( Please select your correct option ) Em_emm
- 152
0,1
o
0.2
®
None of them
-~
| YNade by: Yy/aqar Siddhe




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

Let 4 be an eigen value of a non zero square matrx & Then the equation det{d - A7) = 0 15 called

Trwial equation

p

Characteristics equation

Non-triwal equation

None of them

YNade by: Y/aqar Siddhe




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

~ V] 3 &
Given vectors X, = 0 G X, = 5| form a

Linear set of solution of the system on (-, +o)
; correct

Fundamental set of solution of the system on (—co, +w)

Partial set of solution of the system on (—ee, +@)

None of them

YNade by: Y/aqar Siddhe




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min) BI

A

....... & ..... are dependent vanables i differential equations j—y =2X o =3y
£ A

%t
(\

¥t

Z ¥

; e yyade by: Yelaqar Siddhe




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min) EI

10 -
Eigen values of the following homogeneous system of Differential equation ? =X j—y = 2x + 2y with coefficient matrx [2 2‘
4 A

Answer { Please select your correct option ) VuAnswers.com
A=2,2
y
A=11
5
None of them
®
A=l
C s
| correct YNade by: Yaqar Siddhe




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min) BI

A

The general solution of the second order differential equation containg -------------

no constant

p

one constant

two constants

three constants

YNade by: Y/aqar Siddhe




Question No : 33 of 52

Marks: 1 (Budgeted Time 1 Min) EI

A

A solution obtamned by giving particular values to the arbitrary constants in the General Solution of a differential equation 1s called a -----------

Answer ( Please select your correct option )

p

singular solution

Particular solution

Explicit Solution

None of these

YNade by: Y/aqar Siddhe




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min) BI

A

Ifd—y=e",zkeny= .........
dx

e—x

p

In x

YNade by: Y/aqar Siddhe




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min) BI

A

In a Bernoulli equation x* i—y - 22y =3y" identify p(x),q(x) & » respectively.
x

x2 -2x.4
y
2.3
) 2
o correct
x 3
ol C5ap et
R
i YNade by: Yy/aqar Siddhe




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min) BI

A

A differential equation of the form j—y = f(x,y) 15 said to be homogeneous if 7 (fx, &)= ----.
x

J(xy)
g correct
. J (x)
, JF )
) YNade by: Yy/aqar Siddhe




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min) BI

A

d_y ],

= f§------

Constant solution of the differential equation %
x X

-7 correct
B YNade by: Y/aqgar Siddhu




Question No : 38 of 52

Marks: 1 (Budgeted Time 1 Min) EI

If the tangent lines of two curves are perpendicular at their pomnt of intersection then both the curves are------

A

Answer ( Please select your correct option )

p

MNon-intersecting curves

Parallel curves

Orthogonal curves

Intersecting curves

YNade by: Y/aqar Siddhe




Question No : 39 of 52

Marks: 1 (Budgeted Time 1 Min) BI

An 1sotope has half life of 20 days. The value of constant k will be

A

Answer ( Please select your correct option )

p

6, 20
In2

IS
In2

YNade by: Y/aqar Siddhe



Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min) EI

A

If im? + 6m + 3 = (m+ 4) (m+ 2), then D% + 6D + 8( 15 a linear differential operator) 15 equivalent to

Answer ( Please select your correct option ) Em_emm
% (m + 4) (m + 2)
0|7V correct
n2
®
(D+4)(D+2))y
(@, 3
| YNade by: Yy/aqar Siddhe




Question No : 1 of 52

Marks: 1 (Budgeted Time 1 Min)

2
The solution of x* -d—-“;- =01s
adx
A r ( Please selecty orrect option ) Wm
not sure

2
Yy =xtox

Yy =0x +c:2x3

None of them

YNade by: YWaqar Siddhu




Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)

The nature of roots of ausaliary equation deduced from Cauchy Euler equation

2
4x° & “r+8xdy -

=0
adx adx %

Answer ( Please select your correct option ) mwm

Real and unequal
~

Real and repeated

Complex

None of them

) YNade by: Y/aqar Siddhe




Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)

A function f 15 said to bt a point a if it can be represented by the power senes in (x-a) which has

Answer ( Please select your correct option ) mm

Posttive radius of convergence

- not sure

lecr 30, line 1..

Rads of convergence equals zero.

None of them

Negative radius of convergence

) YNade by: Y/aqar Siddhe




Question No : 4 of 52 Marks: 1 (Budgeted Time 1 Min)

If E(t)=0, 8 =0 (E(t) 1s thesource voltage & E 15 the reststance) then electric wbration of the circuit 15 said to be

A lease select your corre on ) VUK’TSWETSTCUT“

Free damped oscillation

Free un-damped oscillation

Both damped and un-damped oscillation

None of them

) YNade by: Yy/aqar Siddhe




Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min)

The quantity Z = /X2 + & is called

Answer ( Please select your correct option ) mwm

Reactance of circuit

r

Impedance of circuit

lecr 25

Quasi of circuit

None of them

) YNade by: Y/aqar Siddhe




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min)

The time interval between two successive maxima of x(¢) = de ™ sin[f@® - A% + @) is called

Answer ( Please select your correct option ) mwm

None of them
~

Both the pertod

Phase penod

) YNade by: Y/aqar Siddhe




Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min)

The Quasi-frequency of the solution x(t) of free damped motion 15 given by the number

ct your correct option ) VUANSWeErs.com

None of them

) YNade by: Y/aqar Siddhe




Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min)

2
For the equation of free damped motion f?;— + 2/1? +@'x =0 the roots are w») =—-A + NAi @t & wm =—A- -\/,%2 -@* If A*-@* < 0then system is said to be
4 4

Answer ( Please select your correct option ) Vumm

Over damped

F

Cntically damped
~

Under damped

None of them

) YNade by: Y/aqar Siddhe




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)

2
287 P -0
dx 25

The general solution of the equation x -
x

Answer ( Please select your correct option ) Wmm

y=cJ(x) +c,J (x)
& 3 3

y=cf(x) +ef (%)
@ 3 i

e ONade by: Yy/aqar Siddhy




Question No : 10 of 52

Marks: 1 (Budgeted Time 1 Min)

T oD =d D=
3

3

Angwer ( Please select your cofjrect option )

2“7;2(75)
3

2*};4(7{)
C 3

None of them

YNade by: YWaqar Siddhu




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)

s xyza
5 6?]&B= p g r &| then the order of mafirn AX B 1s

! mn o

It A=

A rrect option ) VUANSWeErs.com

2x4

2%3

3x3

None of them

) YNade by: Y/aqar Siddhe




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)

The order of a matrix which contains 1 rows and m columns 1s

Answer ( Please select your correct option ) mwm

- Nade by: Yyaqar Siddhu




Question No : 13 of 52

Marks: 1 (Budgeted Time 1 Min)

3 4
Eigen value of the matix A = [ ] 13

F

-1 7 3-a(7-a)+4=0
21-3a-7Ta+a”*2+4=0
a*2-10a+25=0
Answer ( Please select your correct option ) (a-5j 2-6 mm
A=573
A=3,5
A=34
None of them

YNade by: YWaqar Siddhu




Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)

; . e Bl bl TR [ Fesors
The given system without the use of matnices — = + sin f 1s
di| Y 1 1]y 8

Answer ( Please select your correct option ) Wm

dx . dy
—=3x-T7y+dsin2t; —=x+y+8cos2t
O a & dt 2

§=3x-7y+4sinz; d—y=x+y+8cosz
O

adx

== =3x-Ty+4sint; D x+y+8sint
dt dt

None of them

) YNade by: Y/aqar Siddhe




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min)

_ _ _ dix 3 =x 494 ..
The given system without the use of matnices — = +| _|e” s
di| Y 1 1]y 8

Answer ( Please select your correct option ) Wm

dx . dy
—=3x-T7y+dsin2t; —=x+y+8cos2t
O a & dt £

adx d_y

= =3x-Ty+4e™, =x+y+8¢”

dt

dx dy -
—=3x-Ty+de’, —=x+y+8~

O g - dt .
None of them

) YNade by: Y/aqar Siddhe




Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)

: : : : . " d
The coefficient matrix of the following homogeneous systemn of differential equation X _3x+2 v, & 42 ¥y is

dt dt

Answer ( Please select your correct option ) mwm

|l o
o[l 2

None of them

) YNade by: Y/aqar Siddhe




Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min)

1 -2 =2
The matriz A=|-2 1 -2 | haseigenvalues A =-1,-1.5where A =-1l1sa
2 =2 1

Answer ( Please select your correct option ) Wm

single root of &

p

triple root of &

double root of & - =
| think.. becz mul

of -1
None of them

) YNade by: Y/aqar Siddhe




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min)

By applying the Operator method or systematic elimination on a system of linear homogeneous or linear non-homogeneous differential equations we always get a

An ease select your correct opti m’m

single inear differential ecquation

Double inear differential equation

Partial inear differential equation

None of them

) YNade by: Yy/aqar Siddhe




Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)

I L denote the inear differential operators with constant coefficients, then 4,2, - L,Z;  represents the

Answer ( Please select your correct option ) mwm

L i
. Ia L
| =
I, I
L L
L 1,
None of them
) ONade by: Y/aqgar Siddhu




Question No : 20 of 52

Marks: 1 (Budgeted Time 1 Min)

|2 6] .
The matriz 18
T =3

orrect option )

Singular matnx

Non singular matrix

Diagonal matrix

Scalar Matriz

YNade by: YWaqgar Siddhu




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)

The Differential Equation (x* —4)y" =102 + y = 0 has singularity at

Answer ( Please select your correct option ) VUNTSWETS._CUm

x=1*1

x=14

) YNade by: Y/aqar Siddhe




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)

Operator method 1s the method of the solution of a system of linear homogeneous or linear non-homogeneous differential equations which 1s based on the process of systematic elimination of the

< S -

Systematic Elimination: Operator Method

0O This method of solution of a system of linear homogeneous or linear non-

homogeneous differential equations is based on the process of gys maﬁ
Answor | Mloss soloct your ortach aption ) UANSWErs.com

0O This elimination provides us a single differential equation in one of the dependent
Dependent vaniables variables that has not been eliminated.

0 This equation would be a linear homogeneous or a linear non-homogeneous
differential equation and can be solved by employing one of the methods
discussed earlier to obtain one of the dependent variables.

Independent vanable Notice that the analogue of multiplying an algebraic equation by a constant is operating
@ on a differential equation with some combination of derivatives.

Choice vanable

None of them

) YNade by: Y/aqar Siddhe




Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min)

The non-zero solution of the system exists only when

non-zero vs non trivial

Answer ( Please select your correct option ) mwm

~ det(A- A1) =1 The Non-trivial solution
The non-trivial solution of the system exists only when
det(A- AN =0 det(4— A7)=0
& This equation is called the characteristic equation of the matrix 4. Thus the Eigenvalues
of the matrix 4 are given by the roots of the characteristic equation. To find an
eigenvector corresponding to an eigenvalue A we simply solve the system of linear
det(A- A =-1 algebraic equations |
~ det{A-AT)K=0
det(A- AN = 0
) de by: idd
ade by: nqar Siddhu




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min)

The solution of the linear first order differential equation j—y -2y =01s
x

Bect your correct option ) VUANSWers.com

Both 1) and 2)

| ] [None ofthem

YNade by: Y/aqar Siddhe




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min)

Ordinary points of (x° - 64)(x% -36)y" +xp'— y =0 are

Answer ( Please select your correct option ) VUK’TSWETSTCUT“

0.1
p

8,-8

6,-6

YDade by: Yaqac Siddbe




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min)

Ir-regular singular point of the equation(x* —4)*y" + (x - 20" +y =0 is

Answer ( Please select your correct option ) mwm

X=2
~

w==2 2

None of them

) YNade by: Y/aqar Siddhe




Question No : 27 of 52

Marks: 1 (Budgeted Time 1 Min)

1 0
The matriz A= [O 1] Kast v

Answer ( Please select your correct option )

Real and unequal value
~

Repeated & real eigen value

Complex eigen value

None of them

YNade by: YWaqgar Siddhu




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min)

1 0
If A= [0 2] , then eigen values are

An ct your correct option ) mwm

1.2

0.1

0,2

None of them

) YNade by: Y/aqar Siddhe




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min)

Let 4 be an eigen value of a non zero square matrx & Then the equation det{d - A7) = 0 1s called

Answer ( Please select your correct option ) mwm

Trivial equation
r

Characteristics equation

Non-triwal equation

None of them

) YNade by: Y/aqar Siddhe




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)

1 0
Eigen walues of the following homogeneous system of Differential equation -ai: =%, ?‘Z = 2x + 2y with coefficient matnx [2 2]

dt dt

Ansy domgelect your correct option ) mwm

None of them

) YNade by: Y/aqar Siddhe




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the following may not be considered as mtegration technique

Answer ( Please select your correct option ) mwm

By Parts
~

By substitutions

By Partial Fractions

None of these

) YNade by: Y/aqar Siddhe




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the following equations satisfy the differential equation j—y =X
x

e select your correct option ) VUNTSWETS._CUm

y=xtc

) YNade by: Y/aqar Siddhe




Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min)

The differential equation (3x°y+2) dx+ (x*+ 3 dy = 0is ------- ]

Answer ( Please select your correct option ) VUNTSWETS._CUm

MNon-exact

Separable

Homogenous

) YNade by: Y/aqar Siddhe




Question No : 34 of 52

Marks: 1 (Budgeted Time 1 Min)

In order to change the Bernoulli Equation

d .
Y+ p(x)y =q(x)y
dax

mto linear differential equation, we choose ----.

Answer ( Please select your correct option )

v = yx—l
r

YNade by: Y/aqar Siddhe




Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min)

A differential equation of the form j—y = f(x,y) 1s said to be homogeneous if 7 ({fx &)= ----.
x

Apgter ( Please select your ect option ) mwm

F(xy)

Jx)

JO)

) YNade by: Y/aqar Siddhe




Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)

The differential equation -----------=cacuu-v 1s separable.

Answer ( Please select your correct option ) mwm

xix+ SHCACS
r (x+y) %

dy=4
d

dy _ ¥
O dx 1+ 27
dy xy+3

diae YNade by: Yy/aqar Siddhy




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)

The differential equation -----------=cacuu-v 1s not separable.

Answer ( Please select your correct option ) mwm

d_y= 227+ 3
drx  3+4xn?
d_y= x+1

O dx x + xp

dy= 1

O dx Py +dy

dy
~ —=1+y+x+2xy

p YNade by: Y aqar Siddhu




Question No : 38 of 52 Marks: 1 (Budgeted Time 1 Min)

Ifthe equation M (x,y)dx + N(x, y)dy =0 isnot exact and = -#is a function of ) only, then the mtegrating factor 15 gven by---------- :

er ( Please select Wur correct option ) mwm

| 1F ="
- N.-M,
~ IF=¢ w7 .
erefore. the IF 1s u(y) = expj-:—— y-
| 2 -1
[F= P
& &
YNade by: YWaqgar Siddhu




Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min)

For the solution of the equation_—l =x+c with y(0) =73, thevalueof cis———.
y-

Answer ( Please select your correct option ) VUNTSWETS._CUm

0

r

) YNade by: Y/aqar Siddhe




Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

i 2
116 (cl cos3x + cqsin 3x) 15 the solution of %%)- -4 ;ﬁ + 13y =0, then which of the following 1s the most accurate option for i g -4 jy + 13y = 2?% sin3x 7
X x x X

Answer ( Please select your correct option ) VUNTSWETS.—CUI“

= Its general form of the particular solution will be Ae 2% 4 Bsin x+Ccos x.

2x(

Its general form of the particular solution will be ¢ ™" [ Asin x+ B cos x) 2

Qx(

Its general form of the particular solution willbe ¢ ™" (A x sin x+ B x cos x) :

Its general form of the particular solution will be 2 (Ax sin 3x+ 5B x cos 3x) :

) YNade by: Y/aqar Siddhe




Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min)

2
The conversion of Cauchy Euler equationd x* j—{+ 8x§—y +y=0 after putfy
x x

o x =2 become

Answer ( Please select your correct option ) W’TSWETSTCUT"

(4A% —4A-1)y =0
A

(44 +4A+ Ty =0

(447 +8A+ )y =0

None of them

3 YNade by: Y/aqar Siddhe




Question No : 2 of 52 Marks: 1 (Budgeted Time 1 Min)

w w
Consider a power series Za” = Z(x - 1)" then power series clearly converges for the value of x lies in
M=l H=l

o odion; VUuAnswers.com

[ 0<x=<1 )
p

None of them

: YNade by: Y/aqar Siddhe




Question No : 3 of 52

Marks: 1 (Budgeted Time 1 Min)

Consider a power series Za”

Z \/_ x" then power series gives an inconclustve result if

Answer ( Please select your correct option )

p

|x|$1

|2 =1

|| > 1

None of them

YNade by: Y/aqar Siddhe



Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min)

w
suppose that a power senes Zak(x -a)" 1s represented by a function “f"whose domain is the interval of the convergence of the power series. That function “f” is continuous, differentiable and

Hel

integrable on

Answer ( Please select your correct option )

VUuAnswers.com

r

F

(a+R,a-R)

(R -a, R+ a)

-
" (a-R a+R)
25

None of them

YNade by: Y/aqar Siddhe



Question No : 5 of 52 Marks: 1 (Budgeted Time 1 Min)

Solution of the D.Equation 4y” +y =0 is

e oo} VYUAnswers.com

x x
x)=¢,cos—+c,Sin—
- yix) 1 5 2 5

x
~ y(x) =c,cos 5

yi(x) =cSin %

None of them

E YNade by: Y/aqar Siddhe




Question No : 6 of 52 Marks: 1 (Budgeted Time 1 Min)

A function f 15 said to be convergent at a point a if it can be represented by the power series i (x-a) which has

Answer ( Please select your correct option ) W’TSWETSTCUT"

Divergent senes

p

Convergent series

Both of the Ist and 2nd option

None of them

= YNade by: Y/aqar Siddhe




Question No : 7 of 52 Marks: 1 (Budgeted Time 1 Min)

If E(t)=0, R =0 (E(t) 15 thesource voltage & R 1s the resistance) then electnic wibration of the circuit 15 saud to be

T oo VUuAnswers.com

Free damped oscillation

Free un-damped oscillation

Both damped and un-damped oscillation

None of them

: YNade by: Y/aqar Siddhe




Question No : 8 of 52 Marks: 1 (Budgeted Time 1 Min)

If E(t)=0,R =0 (E{t) 15 the source voltage & R 1s the resistance) then electric wibration of the circuit 15 saud to be

Answer ( Please select your correct option ) W’TSWETSTCUT"

Free damped oscillation
p

Free un-damped oscillation

Both damped and un-damped oscillation

None of them

: YNade by: Y/aqar Siddhe




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min)

The Quasi-frequency of the solution x(t) of free damped motion 15 given by the number

er ( Please 3glect your correct option ) m
= ) SuUre
27T

None of them

: YNade by: Y/aqar Siddhe




Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min)

2
smce x(f) = 2\?_0 2™ sin[ 3 +4.391]1s the solution of % + 2? +10x =0 withx(0) =-2 ,z'(0) =0 .So the phase angle is
4 £

Answer ( Please select your correct option ) WHSWETSTCUT“

4.193
~

4.391

4.931

None of them

: YNade by: Y/aqar Siddhe




Question No : 11 of 52 Marks: 1 (Budgeted Time 1 Min)

The standard unit for measurement of inductance 1s

Answer ( Please select your correct option ) WHSWETSTCUT“

Volt
~

Ohtns

Henry

None of them

: YNade by: Y/aqar Siddhe




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min)

2
The second order linear differential equation x° j—f + xj—y +(x* —49) = 01s a Bessel equation of degree
x x

Answer ( Please select your correct option ) mwmm

] None of them m“de by: Wuqul' &iddl‘ﬂ



Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min)

J_g(x)--}i(x) =
3 3

=270 (x)=J,4(x)=T,,(x)

pULnﬂB VuAnswers.com

r( Plea ct your correct option )

zjfl(x)
3

2'},2(7{)
& T

2J'4 (%)
C 3

None of them

: YNade by: Y/aqar Siddhe




Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min)

Which of the rule in matrices under multiplication does not hold true?

T T VUuAnswers.com

Commutative law

Associative law

Tdentity law

None of them

’ YNade by: YWaqar Siddhu




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min)

If a matrix has 3 rows and 2 columns then the given matrix 15 called

Column matrix

H_

Square Matrixz

Inverse matrix

Rectangular matrix

YNade by: Y/aqar Siddhe



Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min)

e xyza
If A= 567 & B =|pqgr &| thenthe order of masirx AxX51s
! mn o

er ( Pleadyselect your correct option ) WHSWETSTCUT“

2% 4

2%3

3x3

None of them

: YNade by: Y/aqar Siddhe




Question No : 17 of 52

Marks: 1 (Budgeted Time 1 Min)

. : : dix) (2 -7 1Ux). (4], ..
The given system without the use of matnices — = + sin £ 18
di |y 1 1)y 8

Answer ( Please select your correct option )

p

ﬁ=3;'{-7"y+45:in2£; d—y=x+y+80032€

dt dt

ﬁ=3;fr—7"y+43inz; d—y=x+y+80033

dt dt

é:JE=31':—7y+~’-lsin£; d—y=x+y+88in£
dt

None of them

YNade by: Y/aqar Siddhe



Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Min)

. _ ; dix 3 =7 x 41 ..
The given system without the use of matnices — - + " 18
di |y 1 1]y 3

Answer ( Please select your correct option )

adx : dy
=3x-Ty+4sin2t; =—=x+y+8cos2t
O a % dt g
dx o+ ay b
=3x-7 +4et; ~ =x+y+8”"
C a d dt 7
dx dy =
—=3x-Ty+de’; Z=x+y+8~
C | a < a7
None of them
r

YNade by: Y/aqar Siddhe



Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min)

: : : , . . d d
The coefficient matrix of the following homogeneous system of differential equation A P ¥V, & x40 yis

dt dt

Answer ( Please select your correct option ) VUAHSWETSTCUTTI

|z o
o[l 2
|l 2]
| YNade by: Yy/aqar Siddhe




Question No : 20 of 52

Marks: 1 (Budgeted Time 1 Min)

4-A 1 0
0 4-4 1{=0 gives
0 A

Answer ( Please select your correct option )

A =4 of multiplicity of 1
5

A =4 of multiplicity of 2

A =4 of multiplicity of 3

None of them

YNade by: Y/aqar Siddhe



Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)

By applying the Operator method or systematic elimination on a system of linear homogeneous or linear non-homogeneous differential equations we always get a

T — VUuAnswers.com

oingle inear differential equation

Double linear differential equation

Partial linear differential ecquation

None of them

E YNade by: Y/aqar Siddhe




Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)

For the system of differential equations j—y = 2x % = 3y the mndependent variable(s) is (are)
4 4

Answer ( Please select your correct option ) VUA”SWETSTCUT“

Xt

~

v, t

YNade by: Y/aqar Siddhe



Question No : 23 of 52

Marks: 1 (Budgeted Time 1 Min)

The differential equation 2 j—y + xgy =2x+ 3,y(0) =518
x

Answer ( Please select your correct option )

Linear
F

Nonlinear

Linear with fized constants

Undeterminable to be linear or nonlinear

YNade by: Y/aqar Siddhe



Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min)

If A 15 a square matnx and its determinant 1s zero, then

ease ur correct option ) VUAHSWETSTCUTTI

A 15 singular matnx.

A 13 non singular matrix.

A 15 scalar matnz.

A 15 diagonal matnx.

: YNade by: Y/aqar Siddhe




Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min)

The Penod of oscillator in the solution X=5051n (20t+8.5) 15

Answer ( Please select your correct option ) VUA”SWETSTCUT"

0.17643
~

0.32045

0.31400

0.58000

: YNade by: Y/aqar Siddhe




Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min)

An electronic component of an electronic circuit that has the ability to store charge and opposes any change of voltage in the circuit 15 called

Answer ( Please select your correct option ) VUAHSWETSTCUTTI

Inductor
~

Resistor
~

None of them

: YNade by: Y/aqar Siddhe




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min)

If determinant

D-3 1 |

Answer ( Please select your correct option ) VUAHSWETSTCUTTI

D*-4D+1=0
&

D*-4D+3=0

D*-4D+4=0

None of them

: YNade by: Y/aqar Siddhe




Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min)

A rectangular arrangement of numbers or functions enclosed i the square brackets 1s called

Answer ( Please select your correct option ) VUAHSWETSTCUTTI

Equation
~

derterminant

Matr

None of them

: YNade by: Y/aqar Siddhe




Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min)

If wroskian of the solution vectors A &y 15 zero, then vectors are ...

Answer ( Please select your correct option ) VUAITSWETSTCUT"

Linearly Independent
~

Linearly dependent

None of them

Parallel

E YNade by: Y/aqar Siddhe




Question No : 30 of 52 Marks: 1 (Budgeted Time 1 Min)

1-a(2-a)=2-a-2a+a”2
a’r2-3a+2=0

nsw:r ; Please sglect your correct option ) A 2 2 I 2 e
B E ¥ E ] y I ; 3 E : =0

0.1

a8 a=1,2

0,2

1 0
If A= [0 2] , then eigen values are

VUuAnswers.com

-

None of them

: YNade by: YWaqar Siddhu




Question No : 31 of 52 Marks: 1 (Budgeted Time 1 Min)

Let 4 bean eigen value of a non zero square matrix A Then the equation det(A - A7) = 0 15 called

Answer ( Please select your correct option ) mmm

Triwal equation
~

Charactenistics equation

Non-trwal equation

None of them

: YNade by: Y/aqar Siddhe




Question No : 32 of 52 Marks: 1 (Budgeted Time 1 Min)

1 0
Eigen values of the following homogeneous system of Differential equation ﬁ =x, d_y = 2x + 2y with coefficient matnx [2 2‘

dt dt

Answer ( Please select your correct option ) VUAHSWETSTCUTTI

A2
~

e
I

1,1

None of them

———

2 YNade by: Y/aqar Siddhe




Question No : 33 of 52 Marks: 1 (Budgeted Time 1 Min)

The equation d_y 2 ZEHD

dx  y(y-1)

15 afan -----------

Answer ( Please select your correct option ) VUA’TSWETSTCU"‘

partial differential equation.
~

ordinary differential equation.

polynomial equation.

transcendental equation.

: YNade by: Y/aqar Siddhe




Question No : 34 of 52 Marks: 1 (Budgeted Time 1 Min)

The differential equation &x + (i -siny)dy = 0 18 --momeeeee
¥

Answer ( Please select your correct option ) VUAHSWETSTCUTTI

Exact.
r

Homogenous.

Linear.

: YNade by: Y/aqar Siddhe




Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min)

If fx) and gfx) are linearly dependent on I, then----- .

Answer ( Please select your correct option )

r

Wit g)ix) = 0 (Wronskian) for all x in the interval .

Wi e)(x)= 0 (Wronskian) for all x in the mterval I

Wit g)ix) may or may not be zero for all x in the interval T

Wit g)ix) 15 not defined for all x i the mterval L.

YNade by: YWaqar Siddhu



Question No : 36 of 52 Marks: 1 (Budgeted Time 1 Min)

If the auziliary equation has roots —2 ,— 2, then the general solution of the differential equation 1s

Answer ( Please select your correct option ) VUAITSWETSTCUT"

- -2x+ -2x
P Y Cle Cze

y=ce—2+2x
~ 1

2x -2x

= y=qe *tcqe

y=(cl+ch)e-2x
< de by: 1dd

ade by: nqar Siddhy




Question No : 37 of 52 Marks: 1 (Budgeted Time 1 Min)

If the annihilator operator of 2xis D?and of xe s (D = 3) 2, then which of the following is the correct option?

The anmhilator operator of 2x + xe i (D n 3) 2.

The annihilator operator of 2x + xe Y is D2,

The anmhilator operator of 2x + xe Nig D + (D = 3) 2.

The annihilator operator of 2x + xe % ig D? (D = 3) 2.

YNade by: Y/aqar Siddhe



Question No : 38 of 52

Marks: 1 (Budgeted Time 1 Min)

2
2d°y

Iy = x andy,= xe " are the first and second solution of x —

adx

x(x + Z)d—y + (x + 2)y =0 on ( 0,0 ) , then which of the following 1s the most accurate option?

adx

Answer ( Please select your correct option )

VUuAnswers.com

~

¥ = xandy,= xe * tay or may not be linearly dependent.

yi= x andy,= xe * must be linearly independent.

y1= x andy,= xe * may or may not be linearly independent.

y = xandy,= xe ¥ must be linearly dependent.

YNade by: Y/aqar Siddhe



Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min)

2

If vy, = xe " is the first solution of the differential equationj—f + 2‘;—}; +y =0, then which of the followng 1s true for 1t?
x x

Answer ( Please select your correct option ) VUAHSWETSTCUTTI

e 2
~ | Its second solution 15 xe XJ—_Z;dx
e

~ Tts second solution is xe Tz—dx

1
~ | Its second solution 1s xe Jz—z—dx

1 — [ Pdx
~ |lfts second solution 15 xe —g-dx ¥ = y1(x) J e-_qu @
x O YNade by: YWaqar Siddhu



Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

2

2
d
If x° %g— =52 jy 0 1s the particular form of d—J; + P(x) — + Q{x)y = 0, then which of the following 15 the most accurate option?
x x x

Answer ( Please select your correct option ) VUAITSWETSTCUT"

~ P(x) =

YNade by: Y/aqar Siddhe
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